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QUESTION 1

What MPLS function should be performed by a router that receives a data packet containing an MPLS label value of 3? 

A. A router will never receive a packet containing this label value. 

B. Request a new label from the peer that provided this label. 

C. Pop the label. 

D. PUSH an additional label onto the label stack. 

E. Signal a new label to the peer that sent the packet. 

Correct Answer: A 

 

QUESTION 2

Click on the exhibit. 

Which of the following CANNOT be used to ensure the LSP toR6" will follow the path R1-R2- R4-R6? 

A. Admin groups 

B. Hop-limit 

C. Strict hops 
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D. TE-Metric 

Correct Answer: B 

 

QUESTION 3

Which MPLS label mode saves label mappings received from all peer LSRs? 

A. Conservative label retention 

B. Liberal label retention 

C. Downstream on demand 

D. Downstream unsolicited 

Correct Answer: B 

 

QUESTION 4

Which of the following devices receives labeled packets from the MPLS domain, removes the MPLS header, and
forwards unlabeled packets outside the MPLS domain? 

A. P router 

B. LSR 

C. eLER 

D. iLER 

Correct Answer: C 

 

QUESTION 5

Which of the following statements is true when the implicit null is implemented? 

A. The penultimate router will POP the top label from the packets. 

B. The eLER will receive packets with a top label value of 3. 

C. The eLER will receive packets with a top label value of 0. 

D. The penultimate router will always receive unlabeled packets. 

E. The penultimate router performs a double lookup on the packet. 

Correct Answer: A 
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